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Instructions :  Select correct alternative for the following questions.

(All Questions are compulsory)

Tertiary industry performs various process on product and makes 1t

(a) more suitable to consume (b) attractive

(c) durable (d) strong

Which group of society is not associated with business unit?

(a) Owners (b) Employees (c) Crediters (d) Family
On whose recommendation IRDA is established ?

(a) Prime Minister (b) Finance Minister

(c) Reserve Bank (d) Appointed Committee
Which type of godown is like blessing for re-export of goods ?

(a) Bonded godown (b) Ordinary godown

(c) Godown for excise paid goods (d) Special godown

Which code 1s necessary for both the banks for transferring money in india from one
bank to another through RTFGS ?

(a) NEFT (b) IBSC (c) IFESC (d) IMSC
KYC is required.to open account in the bank - what is 1ts meaning ?

(a) Keep your charge (b) Know your customer

(c) Keep your chart (d) Know your credit

The commercial transaction and distribution which 1s done with the help of Electronic
machine and medium is known as ?
(a) “Intranet (b) E-commerce (c) E-mail (d) Internet

Which of the following statement 1s not true regarding communication ?
(a) It is a two-way process

(b) It is a process to send the message to others

(c) It is a process to store information

(d) It s a process done through various media

NI-137 S P.T.O.



10.

11.

12.

13.

14.

L.

16.

1k

18.

19.

20

Rl

Which of the following characteristics 1s not found in sole Proprietorship form of
business ?

(a) Freedom of work (b) Matured decisions

(c) Type of secrecy (d) Personal contact

In partnership firm how much capital partners bring ?
(a) Equal Share (b) Aspersaving (c) Asperneed (d) As per agreement

Minimum how many percentage of shares a holding company should have of the
subsidiary company ?
(a) 51% (b) 50% (c) 70% (d) 66%

Within how many days address of registered office is to be registered before. the
company registrar ?

(a) 15 days (b) 21 days (c) 30 days (d) 45 days

The employees of public sector units are -

(a) Efficient (b) Honest

(c) Govt. Employee (d) Careless

Which is the purpose to let the private sector enter in public utility sector ?

(a) To make limited profit (b) Development of services

(c) Rural development (d) Inerease in quality and work-efficiency

Which of the following 1s not included 1n private sector ?
(a) Joint enterprise (b)" Sole proprietorship
(¢) Co-operative society (d) company

What are the debenture holder of the company called ?

(a) Promoters (b): Debtors (c) Creditors (d) Owners
In which document the provision ef convertible debenture 1s made ?

(a) Memorandum (b) Certificate of incorporation
(c) Article of association (d) Agreement

On which, the rate.of dividend of ordinary equity share is based ?

(a) Total Capital (b) On fluctuation of profit

(¢) On total gross sale (d) On goodwill of company
Whaoiis the first middleman in the channel of distribution ?

(a). Wholesale Trader (b) Producer

(c) ‘Retail Trader (d) Customer

What does franchise offering parent company get from seller company ?

(a) Rent (b) Commission (c) Profit (d) Royalty
Whose responsibility is to provide incentive for export ?

(a) Government (b) Commercial Bank

(c) State Bank (d) Public Company
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22, Who controls foreign exchange ?
(a) Finance department (b) Reserve bank of India
(c) State bank of India (d) Foreign Trade Department

23, Who presented first the concept of social responsibility of business unit ?
(a) Henry Fayol (b) Peter Drucker (c¢) HR. Bowen (d) GR Terry

24 Social responsibility of the business is divided into how many levels ?
(a) Four (b) Five (¢c) Three (d) Six

25, As per the section 135 of companies act - 2013, the company who 1s applicable for
corporate social responsibility then how many previous financial year's profit should be
consider ?

(a) Three (b) Five (c) Two (d) Four

26.  Which function 1s not included in the classification of management by Dt. G R. Terry ?
(a) Planning (b) Organising (¢c) Directing (d) Co-ordination

27 Bottom level management is also known as
(a) Employees Level (b) Jobbers level (¢) Supervisors level (d). Officers level

28.  On what does the centralization and decentralization of authority. depend ?
(a) Size of Unit (b) Oneducation (c) Onexperience (d) On planning

29.  Who 1s considered as the father of scientific management ?
(a) Dr. George Terry (b) F.W. Taylor (¢)» Henry Fayol (d) Luther Gulick

30. How are the objectives ?

(a) Intellectual (b) Real (¢c) Practical (d) All of the given
31.  Which of the following is the element of planning ?
(a) Continuous process (b) Controlling
(c) Directing (d) Rules
32.  Which organization 1s called Army Organization ?
(a) Matrix (b) Functional (c) Linear (d) Informal
33. From the following whe is responsible for giving answer for work done by employees ?
(a) Supervisor (b) Departmental officer
(c) Senior clerk (d) Immediate Top officer
34. Expenses on traming should not be considered as an expenses, but as an/a In
business ?
(a) ‘necessary (b) Profit (c) Investment (d) Prestige
35 Which things are not taken into consideration while conducting necessary test ?
(a) Mental Ability (b) Skill
(c) Aptitude and efficiency (d) Other appearance

36, In which form is informal communication carried out ?
(a) Oral (b) Written (c) Written & Oral (d) Formal
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What is the main objective of formal communication ?
(a) Planning (b) Drirecting (¢) Controlling (d) Staffing

Which among the following matter 1s not included in the wide scope of motivation ?
(a) Need (b) Motive (c) Emotion (d) Wealth

What cannot be delegated by top level management ?
(a) Accountability  (b) Responsibility (c) Resources (d) Authority of power

Who select the standard for controlling ?

(a) Jobbers (b) Formen

(c) Departmental (d) Top level management
What 1s maximization of profit ?

(a) To earn more profit (b) To reduce loss

(c) To make income maximum (d) To maximise net profit

What is the base of debenture in capital structure ?
(a) Director's Policy (b) Steady income
(¢) Government Policy (d) Requirement of capital

Stock market means

(a) Primary market (b) Money market

(¢) Secondary Market (d) None ofthe above

NSDL is managed by which of the following ?

(a) State government (b) Board of directors

(c) Central government (d) SEBI

In marketing management 1S at the eentre.

(a) Product (b) Production (¢) Customer (d) Profit
Which information 1s obtained in the process of marketing research ?

(a) Regarding market (b) Regarding competition
(c) Regarding customer (d) Regarding sale

When was the consumer protection act passed ?

(a) 1956 (b) 1932 (c) 1986 (d) 2015
How many members are there in national foram ?

(a) Three (b) Two (c) Four (d) Five
Which countries started globalization ?

(a) Developed countries (b) Developing countries

(c) Partially developed countries (d) Under developed countries

In which year did trade mark act came into existence ?

(a) 1951 (b) 1955 (c) 1969 (d) 1986
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